-~ l'at\l'b
anucio

MRPLATE31 Installation Instructions Eﬂ

The MRPLATE31 can be mounted to the monitor in a low, medium, or high position depending on your prefer-
ence.

When mounting the plate to the monitor please use the provided M4 screws and attach the plate to the mon-
itor's 100mm VESA mounting points at the countersunk M4 screw hole positions on the plate (highlighted in

green in the diagram below). The countersunk holes you will use will depend on whether you want to mount the
plate in the low, medium, or high position.

600mm Wide

930 393 B

383mm Tall

e 6 o o o ¢ O o o o
e ¢ o6 o o o o o o

[
o - o
<
(o)
O
® o -
Countersunk M4 holes (100mm VESA pattern) — OJ.
M4 threaded holes (100mm VESA pattern) ¥-)
3/8"-16 threaded holes == -0 6
‘g o @ @
S .ﬁg / -
6 M3 threaded holes (battery mount pattern) =5 —Ty) o
: L = T=N
1 9;:&’ ~— — il
-~
'\wi = nd 7
J — C J J

— ]
If attaching a 100mm mount or desktop stand to the MRPLATE31 please do so using the M4 threaded holes
provided on the plate (highlighted in red in the diagram above). Mounts and desktop stands can be attached in

both a medium or low position on the plate depending your preference.

If you have any questions about use or installation please contact support@flandersscientific.com.

1 © 2024 Flanders Scientific, Inc.


mailto:support%40flandersscientific.com?subject=MRPLATE31%20Installation%20Question

